nEGR

REABLE SENSING

IERIZIRINE T 25
EROI52C-2048-PN-5V

AN

L E I & xMBlkpa

ZHEJIANG REABGLE SENSING TECHNOLDGY CO., LTO.




S - (R € REAEGLE

K

(IR = = TP 2
20 BEARBE ottt 3
T == TSP 4
O 1 ST 4
5. BB TT T oottt 5
B FFHITE DL oottt 5
T o BERIFRIST oo 6
8. TEE. HREMIREBH .ottt 7

B0 R e 7

8.2 HFEL oo 7

H
=)



S - (R € REAEGLE
1. BEFR

AFMEERRNEERFEEEET EROIS2C RIIBMBERZEmIDE, Z=mEE
RS T RLBHEHITHIRS, NRGRHERIUENEEEH STARFENRIEER.

BESRTLEE | EMFAIEE,
BEES) 4
——————

-
BREHAT [—w- EEE
-

UESRETFIRSR

mIDERAYIEREXY BN E BB RE SR, flg0:
O UEE

@FEREM

@5, REXNREHE LS S KRN EREM TR
@R AN

@5E

Gl
N
=i



S - (R € REAEGLE
2. RS

EROI52C-2048-PN-5V

BEESEHMEK 2048

R ERZIENES

BAiF R IP40

BRRE 95%RH (F428)
ERIFMERE -40°C~+120°C

EFERE -40°C~+120°C

ab{IZE >500MQ

A iH 73

ZEAN M @ 9.25 mm; HE 1:10
IMER~T HiZ: g65mm; =E: 55mm
HREE R <2000rpm

Bnhise <0.01N-m (20°C)

BN IFRE HMmEER: <£0.2mm; ERABkEN: <0.03mm
10 & 55Hz Zja], fR¥HRIE 1.5mm; 55 £ 2000Hz Zi&l, IIERERN

JiRED
98m/s? ; XYZ E3E 2 /B, FH 6 /)8,
o HEINEEE 980m/s?, 1lms; §AMEApE 3%, H 18K
BMEBIERZIESIE Vpp=1VE0.1V (#Z)
BERRERE Voff=2.5V+20mV
WMH R{ESIEE  2VE04V
WM R{ES T0=1/2T£1/4T
R+: 2V/3V
R+/R-
R-: 3V/2V

L==hr e HE R 10Q
ABR £S5 #ME 100Q
CD E5Ha#HME 1KQ

LI VETES <100KHZ
RALHER 30m

s ENREhEE

B2 ~0.3kg (F&L%L%)

Gl
w
b=



S - (R € REAEGLE
3. BB

mE T=25°C

HEBEB[E 475V 5V 5.25V
FEJRMEBEEFUERE (1) 90mA 100mA 105mA

4. B

CWr5R: IRESRasmin7SmEIRRTHAEE

360°€el. N

B — -------------------- vvvvvv /\ : ------ - [ V0.1V

2V+0.4V

c - -~ [1V£0.1V
g .S
D § 1V+0.1V
........ : o B —
360°mech.




S - (R € REAEGLE
5. BEREHAE

e EEERS
RADREEE S c1
a/b/c/d/r A/B/C/D/R WE L%
L] L]

— RE

> =t
me " -
25V s IﬁﬁRL |
a/b/c/d/r  A/B/C/D/R I
\;>

-
tvs,

uo

2.8V

—

Cl

ABR {55 72 &fE#1 RL /3 100Q

CD 5B RL /9 1KQ
R0=10Q

6. FHEIENX

1b 2b 3b 4b ob 6b

0=

C-
2b D+ 2a A
3b B+ 3a NC
4b R+ 4a R
5b GND 5a B-
6b A+ 6a D-
b C+ 7a NC

Gl
o
b=



REIE - ZREARK

7. EHMR

€ REAGLE

¢ FREMRTE:

)
N
o
S

= 1: 10 f.' ]LE .
2.862° (L) I8
ISTRSS
- B} IRV
- e ¥ ¥
B
2/] &5 (@ 7 2
~19.5 |
/]
| 14.4_
40.9 +0.5
55 +0.5

C*]:

1. RNBEELIEET M2.5, GB/T 70.1-2008, X[E /1% 0.6~0.8Nm;

2. ARAEBEEXEET M5X50, GB/T 70.1-2008, X[E /1% 5.0~5.5Nm,

> HERSWmRT

=12

= 1:10

15

Gl
o
=i




S - (R € REAEGLE
8. Wik, IREIHER

RRD RIS E
O-3k; @-B3INRE; 3-M5x50 BIANAEIRET, @-BKIFEERE], ©-JRi32siE
B, ©-t&
8.1 %

a.

b.

8.2 i

RIS IBSUEROR LEO®, BHFIOH;

RemIssMA RS MM LEFLQOH, EHMSHFAME. & M5x50 RIA/NAERTT
@I MO FL, SREINHFLEE, KES%E 5.0~5.5Nm;

BT £t he ZAKIF R B8] @, RE/IFE 0.6~0.8Nm, MWRIKIFKAIFEREIE;
IMARESRLAAEROS[IEES, BAREBHIBANRDSESE-EN;

= LRI LS, ITRBLUEL, RETM.

M= RIBLUEROR LEO, BHAOH;

WA AT AKIF R EIHRET, fERKIFFATH;

B HERE M5X508RET, HELRW 1~2 B, 1§ M10x20 $2ETIRAY$Hhe N AT
L, T M5 BSTEE M S HFLRE;

IR M10 #25], BB M5x50Q485T, BXT4RIDEs, STAiREl,

H
~
=)



S - (R € REAEGLE
&3S

EITARR
BA hr4sS
.0 /

20200706 V1 FhRZS




RE#H4: 400-636-1110

BIIME RN
e 3 Tk >ZBA

PIik: www.reagles.cn  HB#FE: sales@reagles.cn  EiE: 0573-89891110

ik IIEENTEREBRESTIEIHE O SK4E


http://www.reagles.cn/
mailto:sales@reagles.cn

	1．概要信息
	2．技术参数
	3．电气参数
	4．时序
	5．电路输出方式
	6．针脚定义
	7．结构尺寸
	8．安装、拆卸说明
	8.1 安装
	8.2 拆卸


